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NOTE:

SC/SS/NSCNSS - Marking Guidelines/Nasienrighne

-

DBENovember 2020

. If a candidate answers a question TWICE. only mark the FIRST attempt.
. Consistent accuracy applies in all aspects of the marking memorandum.

LET WEL:

o Indien 'n kandidaat 'n vraag TWEE keer beannwoord. sien slegs die EERSTE poging na.
. Volgehoue akkuraatheid is op ALLE aspekse

REMEMBER: (A) next o the descri

van die nasienriglyne van toepassing.

ption of a tick implics accuracy mark

ONTHOU: (A) langs die beskrywing van ‘n regmerk impliscer akkuraatheids-punt
QUESTION/VRAAG 1
.11 < —6x=0
x(x- 6)=0 v common factor
e on S ¥ both answers (2)
1.1.2 x*+10x+8=0
_—bxb? —4ac
¥ 2a
-102./10° - 4(1)8) v substitution into the correct
- 2(1) formula
_-10+/68
R
x=-088 or x=-9.12 v-0.88 v -9.12 3)
1.1.3 (1-xXx+2)<0
Critical values:
x=1 or x==2 v critical values
“«—0 0——» Or
< | ] 'Y
< , >
- L v’ correct method
-2 1
x<=2 or x>1 v answer
(3)
L4 [ e+18=x-2 Lo _
x+18=x'-4x+4 squaring both sides (m)
=x —Sx—i4 v standard form
(x=7Xx+2)=0 v factors
x=7 or x=#-=2 v both answers
v rejection of x =2
— ()

Copyright reserved/Kopiereg voorbehou

arato Y

—e

&0

Please turm over/Blaai om asseblief
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SCSSNSC NS - Marking Grikefmes Nmsemracioe e e——,
. Nazicerigly
* N
12 x+y=3
| y=3-oxo . (H Y ¥ sobject of e foxmml
Xt ednv-v=18 (2)

| Substitete (1) into (2):
It s ax3-x)-(3-x) =18
2xF 4 12x-2x  ~3.x-158=0
-2x7 +13x-18=0
2x' -13x218=0
(2x-9Xx-2)=0

-
3
2 = S (\'g _\‘=!
' OR
X+ =3
x:_:—.\ ...... ..(l)
:‘_‘-: —:.x_\' -_\': IS ........... (:)

Subsatute (1) into Q):
G- 2233y - v=1s

Y subtinmion

L et S

v factors

v x-valves

v ywvalpes

| OR

i en
v x sobject of the for==la

3T =218 - 2 20— v —15=0
-2.\‘:—_\?:‘:0
.‘._\':-_\—3=
(2y=3)x-1)=0
3
‘ ) ——; QI _\‘=l
, 2
, 9
; x=— or x=2
ko)
' -
S I Pt

<)

T <28

! r° <125

‘ Maximum value of 72 1s 11.

|
'OR

| 200log 72 <3001log 5
! 3

i n<10:k‘s
' n<lIlI8

Can=11

OR A

o

v e of fogs

i
)

ve<lLI®
vl

S

| OR

‘opymight reserved/Aopierey vourbehou ,/J\L" \\ - ‘a’
| b A

Please furm over R om axsedixy”
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D2E/November 2020
SC/SS/NSCINSS ~ Marking Guidelines/Nasferriglyne
200 _ <300 '
n <5 . \
(n2)190 < (53100 . '
b o (n2 100 _ (c3,100
Vo <7 |7 |
3 | i
n<52
n<l11,18 vn<1118 |
n=11 Y11 3) |
OR OR \
n*® <5 ‘
30 x»0
n < 50 v n<5% \
n<l1118 v'n<1118 |
sn=11 vn=11 i
(3)
l 5 | _ [22] |
// iC' 5/
{
\
i ‘2._ {‘) )
Copyright reserved/Kopiereg voorbehou Please turm over/Bleai om asseblief
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SC/SS/NSC/NSS — Marking Guidelines/Nasienrighme

QUESTION/VRAAG 2
’T.l 7:x,pys-115 ..
a=7
a+3d=-11
7+3d=-11 vV 7+4+3d=-11
d=-6 v d=-6
x=a+d=7+(-6)=1 v value of x
y=a+2d=7+2(-6)=-5 v value of y
4)
OR OR
a+3d=-11
3d=-11-7 vV3id=-11-7
3d =-18
d = —6 /d = “6
x=1 vx=1
y= -5 \/y =-5
C))
OR OR
x-7=y-x and y-x=-11-y v’ 2 equations
2x-7=y ...(1) 2y =-11+x...2)
(1)into (2) v substitution
22x=-7)==11+x
: 4x-14=-11+x
3x=3
x=1 v value of x
y=21)-7=-5 v value of y
@
NN N
9 \ / 21 \ / 33
12 12 v’ second difference
2a=12
a=6 va=6
3a+b=9
3(6)+b6=9
b=-9 vVb=-9
atb+c=-3
6-9+c=-3
c=0 vVe=0 4
T, =6n*-9n
2.2.2 Ty = 6(50)2 - 9(50) Answer Only: Full Marks v’ substitute 50
=14 550 v answer ()
. (W ’ v
Copyright reserved/Kopiereg voorbehou g M’S ". Please turm over/Blaai om asseblief
)
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ics P1/Wiskunde V1 6 . o
Mathematics PI/IFs SC/SS/NSC/NSS — Marking Guidelines/Nasienriglyne

21;33;
=23 9(, =9 v aandd
d=12

S, —'—[2a +(n- l)d]

2 v substitution into the correct

.'2_’[2(9) +(n- 1X12)] formula

'5'[18+]2n -12]

n n

=— 12 +6 v =
S 120+ 6] ~fi2n+6]
=6n’+3n
3|
224 -3+S§, =21060 /—3+S,,=21060
S =21063
6n’ +3n=21063 ¥ equation
6n’ +3n-21063=0
2nt +n-7021=0 v standard form
o —b+b? — dac
2a
_ —1E4()? -4(1)(=7021)
2(2)
n=59o0rn+ —119
. n=59 v’ answer
4)
OR
T, =21060
6n’ —9n-21060 =0 v equation
2t =3n-=7020=0 v standard form
n=60
.. 59 first differences must be added. V'V answer
(4
7

AN <

Copyright reserved/Kopiereg voorbehou

Please turm over/Blaai om asseblief
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QUESTION/IRAAGY

SCYSS/NSC/ZNSY - Maeking Quldelines/Nastenrighme

DIYNovember 2020

KN T -
AT w12 b= 4 %
t= A V12444 =, or 3({—)
4 | R) 3
| v value of r
=<l
R
Ooseries is convergent (=1 <r <) V —ler<l
3)
: -

Va3 w237 4 43 437 g
4

v expression for a

1
re—
3
S =
B P
2 4.3 v substitution of @, rand S_,
S=
° _;
A
; L i _ 4
4.3%# =i v sunphﬁcm.xon(ti.S2 P = 7—7)
27 2
33 =30 v 3tr =37
LY —_n
-—p==2
p=s v answer
(5)
[8]

Anaag
)

L.

Copyright reserved/Kopiereg voorbehou

Plense turm over/Blaai om asseblief
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DBE/Novemb
SC/SS/NSC/NSS - Marking, Guidelines/Nasienriglyne SERESIERS
QUESTION/VRAAG 4
a1 Jx=1 o vx=|
y=2 v y=2
: )
4.1.2 yeEmxd e Y=y, =mx-x) y==(x=p)+q
2==14¢ or y-2=-l(x-1) or =—(x=1)+2 | substitutionofm=-1and
ce=3 y=2==x+l1 y==x+3 /(1;2)
ye=-=x +3 y==x +3 answer
(2)
4.1.3
v‘,
v’ vertical asymptote: x = |
and
5 horizontal asymptote: y =2
v x-intercept: -;—
2 v’ y-intercept: 5
/_-’ v’ shape (A)
1 £l x
2
(4)
42.1 (—5;—8) v x==5 /y=_8
(€3]
422 y2-8 or [-8w) v answer
M
423 m=-=5 Vm=-5
n=g(-5)
] 9 v'substitution
BEARAE
=9 v n=2
(3)
4.2.4
y N |
/ Area (rapezium = -?:(DE +OC)x0E | / - ethod
- ]
/ / c = —(2+4,5)%5 v correct substitution
. 2
 /
- 5 = ﬁor 16,25 v'answer
. x 4 -
/\ (3)

\

N

A

)
Copyright reserved/Koplereg voorbehou ,{ﬂ/t&j }.}; @ Please turm over/Blaai om asseblief
C .-
\
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DBI/November 2020
SC/SS/NSC/NSS = Marking Quidelines/Nasienriglyne

OR OR
y Arco A= lb.l;'
2
| / 1 (5 v method
’ - = -(5)(-)
s c 2 2
/ D = 22
— % e 0 x 4
Arcarcct = bh
= (5)(2)
=10
A
v correct substituti
Arca trapezium = % +10= Eor 16,25 /zz;:z:qubsmuuon (3)
OR OR
S(-9;0) .
| Arassoc- %b.h
G 1, (9
=—(9) =
10/2)
|
4
1 1
Area A SED = —b.h =—(4)(2) = 4
2 2
Area trapezium = ;rlea A SOC - Area A SED v method
=—-4
4 v’correct substitution
= —6—5-or 16,25
4 v'answer 3)
4.2.5 a, 1 +2
g x-2y > v’ changing x and y
-1, _ _
g7 y=2x-9 v answer
= (2
/| \\) p -'@ )
M

e

Copyright reserved/Koplereg voorbehou Please turm over/Blaai om asseblief
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SCR NSO AR -\ _10 N DBE/November 2020
: Malang Guidelines Nanierrphme
':.:\° _.‘r\ - ‘ “' i\: Q . T
RACE Ll B ) MER |
. (I
SV = —(x <10 - 23) =%
'\x\=%x"i 25
T =x+3 v (x
Ax)=2x-94t
xX=-3=2
'x=—3 ry=-6 v x+3=2
, OR OR 4)
T(x) = &(x)
| == :— =Dy-0Q.
St ) -8=2x-9=% v’ equating
U g e 2F
?S.n '?'.\x*?—kzo
; —_ .—3 - 2 . >
| x—4,])=_3 - —4dec=0 v’ turning point/ A =0
i ==
: \24
\ _‘————6
L (3:-6) Vx=-3Y y=-6 (4)
i N
E— - i ] 23]
o :
&Q /
Zhkiys I T
- -{,,

Copyrigh: reserved/Kopiereg voorbehou Please turm over/Blaai om asseblief
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SC/SS/NSC/NSS - Marking Guidelines/Nasienriglyne

QUESTION/VRAAG 5
5.1 AW:1) v’ answer
)
5.2 9=3"* v’ equating
3;' =3—! / 32 =3-l
x=-2
B(-2;9) vV ox=-2
3)
5.3 xe(0;0) or x>0 v'v answer
2
5.4 h(x)=27.3""
h(x) =37 < h(x) =37
S shifted 3 units to the right v'3 units
v right
5.5 2
' 2—3 <1 37 <1
3
3">27 or 37«30 v3rs270r 37 <30
3% 533 —x+3<0 v3'>3 or -x+3<0
x>3 x>3 vx>3
©))
OR
OR
The graph shifts 3 units to the right v translation
Thus the y-intercept shift 3 units to the right 3B v’ y-intercept
x>3 ) v answer 3)
= =N - [12]
e ﬁ (¥ 7
&0 -1 290
Copyright reserved/Kopiereg voorbehou Please turm over/Blaai om asseblief
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SC/SS/NSC/NSS — Marking Guidclines/Nasienriglyne CRENSEmRE 202D
QUESTION/VRAAG 6
6.1.1 ,1-[(1 +i)" -1 ]
F = ; v n =145 -|
145 o &07_5
1000[(1+0'°75) —1J i
~ 12 v substitution into the
- 0,075 correct formula
12 y
= R234 888,53 SOSNEE X
4)
6.1.2 A="rO+i)
=934 8886300 0,075 . v substitution into the
s 12 correct formula
=R253 123,54 ¥ answer )
6.2 A=rP-i) 7
y substitution into the correct
92 537,64 =250 000(1-0,22) formula
0,37015056 = (0,78)"
log 0,37015056 vcorrect use of IOgS
n=
log 0,78
n=4 years Y answer
il 3)
6.3.1 - )"
Loan amount: =M—l
14
o v 72
1500l 1 _(1 4 0,1 13) v'substitution into the correct
3 12 formula
B 0,113
12 v
= R78 173,49323 answer
{ 3)
6.3.2 - )"
Balance after 5 years: P =£Jl (]_H)
I
-12
1500]1- l+&13 o L.
12 v’ substitution (A)
B 0,113
12
=R16 945,00629 v R16 945,00629 (A)
Amount paid: R1 500x60 =R90 000
Interest
= Amount paid — [Loan — Balance] v R90 000 — [Loan - Balance]
=R90 000-[R78 173,49323 —=R16 945,00629] v answer 4)
= R28 771,51

= .
apyright reserved/Kopiereg voorbehou M {7\ - ﬂ Please turm over/Blaai om asseblief
[ i

ocldlliieu witdi udll ISCJ



Mathematics P1/Wiskunde V1 13 DRE/November 2020

SC/SS/NSC/NSS — Marking Guidelines/Naslenriglyne
OR OR
Balance
60
15001 +0‘—”3 -1 v substitution

8 173,49 1.4+ 2133 “ 12

_7 7.(+ ) T
12
Balance = R16 945.00 v R16 945,00629
Amount paid: R1 500 x 60 = R90 000
Interest
= Amount paid - [Loan — Balance]
=R90 000 - [ R78 173,49323 — R16 945,00629] ¥ R90 000 ~ [Loan - Balance]
= R28 771,51 v answer 4
[16]

N A

Copyright reserved/Kopiereg voorbehou Please turm over/Blaai om asseblief
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Mathematics pi/n iskunde V1 SC/SSIN

f(.\' +h)= 2(.\' + h) -1

= 2(.\" +2xh+ " )7 -1
= 2x? +4xh+ 207 -1

fx+ h)- f(x)= 2x? +4xh+ 20t -1-

. _ oyl 4 dxh+2h’ =1
= dxh+2h’

£/()=lim f(x+h]3-f(x

14
SCINSS - Marking Guidelines/

(2 ~1)
2x? +1

.

DBE/November 2020

Naslenriglyne

v 2x? 4+ dxh+2h" =1

v 4xh+2h?

_ 4xh+2M v/ substitution
=T
h(4x +2h) v simplification
=lim————
h—-0 h
= lim (4x + 2h
hl->0( ) v/ answer
=4x )
7.2.1 d (5 2 +x3)
dx
2
d| = .3 2
=—|x5+x s
dy 2 = v _2_x—§ v 3
D _Zx543x 5
@ 2 ©
722 4% -9 ) )
Sl)=—=
4x+6 v
(2x-3)2x+3) (2x-3)2x+3)
2(2x+ 3) v 2(2X+3)
_2x-3
2
3 oo SrTIT
=x-3 v simplification to two
/ separate terms
f(x)=1 v/ answer
(¢
12

Copyright reserved/Koplereg voorbehou

Please turm over/Blaai om asseblief
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DBENovember 2020

SC/SS/NSC/NSS - Marking Guidclines/Nasienriglyne

QUESTION/VRAAG 8
8.1 -l<x<2 v v answer
2)
8.2 )
~ = v
12 Answer Only: meftiod
X = 5 Fu“ Marks v answer
(2).
= From the graph x >
rom the graph x > 2 Answer Only: Vv answer (2)
Full Marks
8.4 g(x)=ax® +bx? +cx
g (x)=3ax® +2bx + ¢ = —6x* + 6x +12 v og'(x)=3ax +2bx +c
3a=-6. 2b=6 c=12
a=-2 b=3 va=-2
vb=3
x)==2x*+3x2 +12
2 () x v g(x)=-2x" +3x7 +12x
i . 4)
8.5 1 1Y 1 - 1
—l=-6=| +6/ = |+12 v'max gradient at x = —
(3)-43) 43 et =g
m==—or 135 v answer
3 2
1
y=—..(—) +3(l) +12 2
2 2 2
13
y=—- or 65 v y value
y=y=mx-x)
! y-6,5=13,5(x—0,5) v'substitution
! _12&
l y=135x-0.25 v answer
: | = ()
. . ) [15]
SRS
Copyright

resenved'Nopiereg voorbehou

Please turm over/Blaai om asseblief
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LIt o proestops J2120
SISYINVINGG ~ Matving Crudeiza)lailernriy) [yre

QUESTION/VRAAG 9

|

[
|
l
|

9.1

|
i
i

Total surface 2rea = 2w + 2wh + 2/h

 Uwe2uh~2Uh
=3y

but: 7/ =3w

Total surface area = 6w’ + 2wh + Gwh J

i )

C =15(6v* )+ A2wh~ k)
v "/2‘0/'7-6‘/);!)

=15(6w* )« 6A%wh)
= 90u* +4%wh

' l %)
92 | S=3wh |
! 5
! | },:.L_ [ =

{ 3w’ o
x | C = 90w* + 4%wh .
| s Clw)=90w" = 4Zu,{ 2| v sibmingion

1 ‘32‘)
‘ | : - | 4 "
‘ =90w" <20w" V Cls)=Sr0" ~%rn”™
| l C(w)=120% 20w v deiiaive

| 180w —80% " =0 v ecueting devaive w2esd
% 120w -20=0

| . 20

W =—

| 129

. 120
' | =2 —

. V120 ,
T »w =076 v geol w

! ‘ (5
; ! = = {161

p? /
hd BT
‘——/- ’

Copmgis roumel Fopuoreg serrteire Fleme nres cnes Zla om mmenihe

————SCdrieu witl udiiioC
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DBE/November 2020

QUESTION/VRAAG 10
10.1 10" or 10000 000 000 v'v answer \
2)
10.2.1
8x10x 10 x 8> 8 x10 x 2x 10 x10 » v 8»10x 10
Area exchange number or
8§~ 8 %10
No. of valid 10-digit numbers 2% 10 x10 x 10
=(8x10x10)x (8x8x10)x (2x10x10x 10)
= 1,024 x 10° v 1,024 x 10° (A) (3)
10.2.2 - 1,024 x10° 1,024 %10’
Probablhty =T v ]0—‘0
64 0,102 0,24°
—as— 4=10,24% 7 answer
(2)
_ (7]
QUESTION/VRAAG 11 B
11 First shot Second Third
shot shot
R{),\
B 2 ;
0,5 B ':
L
‘
= -
o~ [§
NBB
‘/
N
/ 0,5
B
N 0,5
0,5
R
11.1 P (Bull’s eye first shot and second shot)
=0,5%0,5 vtwo 0,5°s
1 v X
=0,25 or — 0,50, =
4 G

Copyright reserved/Kopiereg voorbehou

/j fu.,

ﬁ’ ; Please turm over/Blaai om asseblief
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DBE/November 2020

1112 ; P (Bull's eye at least twice in 3 shots) |
; [ T(050.5+05)+ (0,5 x0,5v0.5)+ (0.5 > 0,5~ 0,5)+ v 0,5%05 05
{ (0.5 x 0,5x 0,5) v four events
! ’=0|25*0.125*0.125*0.125
_ 1
! I~ 0.5 or 3 v answer (A)
L (3)
113 | Person shoots first:
f (0.5)+(0.5)% +(0.5)% + .. ¥ (0.5)+(0,5)°
| peml Yo+ 05+ |
H 1-r \
! p=_05 v p=05_
| 1-0.25 1-0.25 \
| 2
: P=Z=067 3|
[ 3 : |
L l | i (81}

Copyright reserved/Kopiereg voorbehou
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